Quiz 3 — Chapters 3 and 4: 2" Declension Nomen: %4' @’%
Directions: Decline the following noun/adjective pair in the chart below (24 pts.) ¢

Noun: ager, agri, m. / Adj: magnus, magna, magnum
singular plural
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Ablative g Y Moy s a@ (1S M@M <
Yocative O“%fef ) Wﬁm OL% - '{'" ‘ sz\_I

Conjugate the following verb in the Tense, Voice, and Mood indicated (12 points)

sum, esse — Present Active (Intransitive) Indicative

sing, plural
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Vocab: Identify the possible form(s) for each final form by giving: C#G for nouns, PATMV for verbs
and then provide the full dictionary entry and at least one English meaning for each term. (20 pts)
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